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48- Choose the correct sentence :
1) My father works 1n shifts.
2) We attended in a T.V program.
3) They decided to go to trip .
4) I participate in an online course.
49- Which part is grammatically incorrect ?

Why were you late for school yesterday? Because my sister and I stayed awake and build
my project last night.

1) were 2) for school 3) stayed 4) build

50- Choose the sentences that have rising intonation.

a. My little brother Reza was hungry. b. Can you give me some advice?
c. How did Ali hurt his head? d. What a great movie!
l)a&b )b &c 3)b&d 4c&d
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